
Week 6 – Day 1 Week 6 – Day 2 Week 6 – Day 3 Week 6 – Day 4 Week 6 – Day 5 

32 + 3 x 2 = 
¼ of 100 = 
100 x 99% = 
50 x 60 = 
1 ¼ - ½ = 
0.5 x 4 = 
10 – 5.5 = 

32 + 3 x 5 = 
¼ x 100 = 
200 x 99% = 
40 x 50 = 

1 1/6 – 1/3 = 

0.5 x 8 = 
10 – 5.6 = 

32 + 10 ÷ 2 = 
¼ x 1000 = 
300 x 99% = 
50 x 80 = 

1 1/12 – 1/3 = 

0.5 x 18 = 
10 – 5.7 = 

32 + 18  ÷ 2 = 
¾ x 1000 = 
500 x 99% = 
50 x 400 = 

1 1/18 – 1/6 = 

0.5 x 24 = 
10 – 6.2 = 

32 x 2 – 15 = 
½ x 3500 =  
800 x 99% = 
70 x 30 = 

1 3/9 – ¼  = 

0.5 x 35 
10 – 7.3 
   

 


